ZD2

AN YR=25 52+ BEERZEFELMCT, H9~750FhFRIOVT
LMY RERE—DORY, ABMBEOZO2 (YRZUI)ITBALZE W, 1
HIXA), B), Co3ERICHPITVT, £8T7HMTY, WFhomEDd —
JELBIL SENTE T A MMEMERAS, REBCHEYRALLS
Vo —HOMBERIMIZK 10T, MERFICAEEMBLEEIVTLE Y.

(A) Listening 1 ~ 6 (49~54) T, KFEXLTF Y Y A0H L MBI S T
DT, TRCHT 2HD BRI LEREA~DD ) bhS—2RI% &,

Example
(A) Because she is always late.
(B) Because the movie will start soon.
(C) Because the busy roads may delay them.

(D) Because the man will not wait any longer.

Listening 1
49. (A) A chocolate cake. (B) A custard tart.
(C) A cheesecake. (D) A fruit jelly.
Listening 2
50. (A) 9:20. (B) 10:50. © 1100. (D) 11:25.
Listening 3
51. (A) By shuttle bus. (B) In one large taxi.
(C) In two regular taxis. (D) In one regular taxi.
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Listening 4
52. (A) Traveling around the world. (B) Holding an exhibition.

(C) Looking after his dogs. (D) Teaching English.
Listening 5
53. (A) Pizza. (B) Drinks. (©) Plates. (D) Cheesecake.
Listening 6

54. (A) Desk C30. (B) Desk P25. (C) Gate E13. (D) Stand A20.
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(B) Listening7 ~ 8 (55~64) T, HEFHELFWT, FIRISNAMEIHT IR
B HEZZA~C)D ) Bbhb—2RI % &V, 4B, Listening 7 IZIXHE
A, Listening 8 [IZMESEOH Y 5. PIEIZH Y TEA.

Listening 7

55. Why isn't the man reading a book?
(A) Because he has a headache.
(B) Because he forgot to bring his book home.
(C) Because he would rather watch a movie.

56. Why don’t the man and the woman watch My Aching Heart?
(A) Because they are bored with musicals.
(B) Because the man'’s friend said it was dull.
(C) Because they don't like romantic films.

57. Why don't the man and woman watch Sack Lunch?
(A) It's too long.
(B) The man doesn't like the lead actress.
(€) It's unavailable.

58. What does the man say about Dragon Punch?
(A) It takes place in Hawaii.
(B) Some of it was filmed underwater.
(C) The trailer looked exciting.

59. Which movie do the man and woman decide to watch?
(A)  Dragon Punch.
(B) The Mars Journal.

(C)  Firestorm.
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Listening 8

60. How many species are on the ReWild list?

(&) 10.
(B) 25.
© 160.

61. According to Sally, what is the major cause of animals becoming
extinct?
(A) Climate change.
(B) Hunting.
(C) Loss of living space.

62. When was the crested gecko rediscovered?

(A) 1967.
(B) 1994.
) 1995.

63. What kind of creature was rediscovered in Africa?
(A) A tortoise.
(B) A bee.
(©) A crab.

64. Which one of the following has ReWild rediscovered?
(A) The fat catfish.
(B) The tap-dancing spider.
(C) The velvet pitcher plant.
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(C) Listening 9 ~10(65~75) T, ¥EFEZHWT, ZHIIHL T, HEIShZ
£XDOWAEHIELIFHIZA) TRUE %, iEL < 217 NIEB) FALSE 2 B0 % &
v, %38, Listening9 I IXME AT O, Listening 10 IZIXMEA2H Y £
Fo FIEIEH Y THA.

Listening 9
You will hear a man called Richard talking to a woman called Janet about
who to hire for a job. Look at the 5 sentences below. Decide if each
sentence is TRUE or FALSE. If it is TRUE, choose (A). If it is FALSE,

choose (B).

65. The woman feels that the first candidate has plenty of work

experience.
() TRUE (B) FALSE

66. The man feels the first candidate ought to try again in the future.
(A) TRUE (B) FALSE

67. The second candidate has the desired degrees for the position.
(A) TRUE (B) FALSE

68. The man feels the third candidate was nervous.
(A) TRUE (B) FALSE

69. Both the man and the woman agree to hire the first candidate.
(A) TRUE (B) FALSE
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Listening 10
You will hear a short conversation between a man called Alex and a
woman called Lola about their university class. Look at the 6 sentences
below. Decide if each sentence is TRUE or FALSE. If it is TRUE, choose
(A). If it is FALSE, choose (B).

70. Alex was late this morning because his train was delayed.
(A) TRUE (B) FALSE

71. Lola offers to lend Alex her lecture notes.
(o) TRUE (B) FALSE

72. Alex does not need to write an end-of-semester report for Professor

Crisp.
(A) TRUE (B) FALSE

73. The due date for students’ presentations is in three weeks’ time.
(A) TRUE (B) FALSE

74. Alex says there will be enough time to prepare his presentation.
(A) TRUE (B) FALSE

75. All students’ essay assignments will have been graded by next
Thursday.
(A) TRUE (B) FALSE

E T % B
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